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by the following features: it is wealthy, its economy is dominated by the financial 
service sector, and its population is well educated. Based on the variant of modernization 
theory that we examined, which country is most likely to be democratic and why?

d.	 Why might globalization encourage democratization around the world?
e.	 Many people have recently argued that countries with high levels of economic 

inequality are unlikely to become democratic. What is their basic argument? Based on 
the variant of modernization theory that we examined, do you expect economic 
inequality to always harm the prospects for democracy? Explain your answer.

Exit, Voice, and Loyalty Game

3.	Earlier in the chapter we solved the Exit, Voice, and Loyalty Game for (a) the scenario in 
which the Crown was dependent and the Parliamentarians had a credible exit threat, and 
(b) the scenario in which the Crown was dependent and the Parliamentarians had no 
credible exit threat. We did not explicitly solve the EVL Game for scenarios when the Crown 
was autonomous. The game tree for the Exit, Voice, and Loyalty Game is shown in 
Figure 6.12. Answer the following questions.

EVL Game with PayoffsFigure  6.12

Note: E = Parliamentarians’ exit payoff; 1 = value of benefit taken from the Parliamentarians by the Crown; L = 
Crown’s value from having loyal Parliamentarians who do not exit; c = cost of using voice for the Parliamentarians. 
It is assumed that c > 0 and that E < 1 – c.
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